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Important Instructions:
The Answer Sheet is inside this Test Booklet. When :

1.

Roll Number

you are directed to open the Test Booklet, take out the
Answer Sheet and fill in the particulars on ORIGINAL
Copy carefully with blue/black ball point pen only.

The test is of 3 hours duration and the Test Booklet
contains 180 multiple-choice questions (four options
with a single correct answer) from Physics, Chemistry
and Biology (Betany and Zoology)-

Wherever the symbols/constants are not mentioned, they
are to be considered as per their standard meaning/
value.

Each question carries 4 marks. For each correct
response, the candidate will get 4 marks. For each
incorrect response, one mark will be deducted from the
total scores. The maximum marks are 720.

T e E L P T,

Use Blue/Black Ball Point Pen only for writing :
particulars on this page/marking responses on Answer

Sheet.

Rough work is to be done in the space provided for this :
: 16,

purpose in the Test Booklet only..

On completion of the test, the candidate must hand

over the Answer Sheet (ORIGINAL and OFFICE
Copy) to the Invigilator before leaving the Room/
Hall. The candidates are allowed to take away this

Test Booklet with them.

ansannn

The CODE for this Booklet is “46”. Make sure to :

enter this code in the OMR answer sheet.

Do not epen this Test Booklet until you are aske

This Booklet contains 32 pages, includin

14.
15.

17.

18.

d to do s0.
¢ Rough Page.

The candidates should ensure that the Answer Sheet is
not folded. Do ‘not make any stray marks on the
Answer Sheet. Do not write your Roll No. anywhere
elsc except in the specified space in the Test Booklet/

Answer Sheet.

Use of white fluid for correction is NOT permissible
on the Answer Sheet.

Each candidate must show on-demand his/her
Admit Card to the Invigilator.

No candidate, without special permission of the centre
Superintendent or Invigilator, would leave his/her seat.
The candidates should not leave the Examination Hall
without handing over their Answer Sheet to the
Invigilator on duty and sign (with time) the Attendance
Sheet twice. Cases, where a candidate has not signed
the Attendance Sheet second time, will be deemed
not to have handed over the Answer Sheet and dealt
with as an Unfair Means case.

Use of Electronic/Manual Calculator is prohibited.

The candidates are governed by all Rules and
Regulations of the examination with regard to their
conduct in the Examination Room/Hall. All cases of
unfair means will be dealt with as per the Rules and
Regulations of this examination along with Public
Examinations (Prevention of unfair means act 2024).
No part of the Test Booklet and Answer Sheet shall
be detached under any circumstances.

The candidates will write the Correct Test Booklet Code
as given in the Test Booklet/Answer Sheet in the
Attendance Sheet.

If a candidate marks more than one answers for a
question in the OMR Sheet, it will be treated as
incorrect and negative marking will be applicable.
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. g < four
A physical quantity P is related to

observations a, b, ¢ and o as follows:
*

P = qgip2 f(wff-f- I\. :

‘

The percentage errors-of measurement in a. b,
cand d are 1%, 3%, 2%. and 4% rcspcc_lt\‘t"}’-
The percentage error‘in the quantity P is

(1) 2% @) 13%

(3) 15% 4) 10%

The intensity of tral_l::'émitted light when a
polaroid sheet, placed between two Icrosse_d
Polaroids at 22.5° from the polarization axis
of one of the polaroid, is (fp is the intensity of
polarised light after passing through the first
polaroid): 1

1o )
m @ 5
Iy A ()
® 1 4

Y |
A 2 amp current isf‘;':é'lowing through two
different small circular copper coils having
radii ratio 1:2. The fagio of their respective
magnetic moments will be

1y 12 (2) 2:1
(3) 41 (1? 1:4
Consider the diameteriof a spherical object
being measured with'the help of a Vernier
callipers. Suppose®ifs 10 Vernier Scale
Divisions (V.S.D.) are‘é(}ual to its 9 Main Scale

Divisions (M.S.D.). The least division in the
M.S. is 0.1 cm and the zero of V.S. is 4t

x =0.1 cm when the jaws of Vernier callipers
are closed.

If the main scale reading for the diameter is
M=5cm and the number of coinciding

vernier division is 8, the measured diameter
afler zero error correction, is

(1) 5.08cm, (2) 498cm
() 5.00 ¢m @) 5.18cm
46_English |  /n_ ~.
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A photon and an electron (magg

my
the same i

L'ncrg'jj‘* E. The : Wy
" iy
(1phmon/lclcclron) ofl their de p
i = E-f rﬂg“{.
wavelengths is: (¢ is the;speed of lighy)

i

o
> 5,

(1 c2mE
1
3) & %m

De-Broglie wavelengﬂ{‘fé;fan electron Orhj:
: - £33 itin
in the » = 2 state of hyg_iqg:-gcn atom is
(Given Bohr radius = 0,052 ym)

(1) 0.67 nm (2)* 1.67 nm
(3) 2.67 nm )" 0.067 nm

An unpolarized light beam trave
- = - % J
incident on a medium g'fgref'mcti
at Brewster’s angle. Then-

(1) reflected light is _'p:ﬁfr:ialiy polarized gpg
the angle of reﬂeétj;t)n is close to 300
(2) both reflected an&‘.;'.':transmitted light are
perfectly polarized with angles of
reflection and refraction close to 60°
309, respectively.
(3) transmitted light is completely polarized
with angle of refraction close to 300
(4) reflected light is c{)mpletely polarized and
the angle of reflection is close to 60°
0
S T . T
The kinetic energies of two similar cars A and
B are 100J and 223 respectively. On
applying breaks, car Astops after 1000 m and
car B stops after 1500 m. If /', and Fj are the
forces applied-by the breaks on cars A and B,
respectively, then the ratio F,/Fy is

“ing in air jg
ve index | 73

and

2 5 1
[ 3
B 5 (4 B
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\ wire ol resistance R is_cut into 8 cqual
i From these picces two equivalent
resistances are made by El‘dding

: four of
together in parallel. Then these two sels":asc
g re

added in scries. The net effettive resistance of

the combination is - oy
R LS )
i R
R

&) 3 ) =
3 (4) o

-t
g

An oxygen cylinder of \E(;l_ume 30 litre has
18.20 moles of oxygen. After some oxygen is
withdrawn from the C):;linder, its gauge
pressure drops to 11 atméspheric pressure at
temperature 27°C. The mass of the oxygen
withdrawn from the cylinderiis nearly equal to:

100

12
molecular mass of O, = 32

| atm pressure = 1.01 x 035 Nim]

[Given, R = J mol~'K-!, and

(1) 0.144 kg (2) *0.116 kg
(3) 0.156 kg (4) ;0,125 kg

L)
In a certain camera, a ¢éombination of four
similar thin convex lensesare arranged axially
in contact. Then the power of the combination
and the total magnification in comparison to
the power (p) and magniﬁ_c?ation (m) for each
lens will be, respectively:;j
(1) p*and 4m (2) «4p and m*
(3) p*and m* ) ‘4}: and 4m

P
AB is a part of an electrical circuit (see figure).
The potential difference~¢V, — Vp", at the
instant when current i =2 A and is increasing
at a rate of 1 amp/ second is:

|___/\/\/\__.B

1H 5V 2Q
(1) 6volt (2) 9 volt
(3) 10volt (4) 5volt

46_English |
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t =15 msee

A body weighs 48 N on'the surface of the
carth. The gravitational force experienced by
the body due to the carthat a height equal to
one-third the radius of the earth from its
surface is : N
(1) 27N
(3) 36N

(2),32 N
Hr 16 N
A full wave rectifier cirgu'n with diodes (D))

and (D,) is shown in the figure. If input supply
voltage V;, = 220sin (100 7¢) volt. then at

(1
2)
3
)

D, is reverse biasec_iffl): is forward biased
D, and D, both an:a- forward biased
D, and D, both ari:’:ifeverse biased

D, is forward biased, D, is reverse
biased

Two cities X and Y are é'gfmccled by a regular
bus service with a bfns:' leaving in either
direction every T min. Acgirl is driving scooty
with a speed of 60 km/h"in the direction X to
Y notices that a bus 'goes past her every
30 minutes in the directiﬁrj of her motion, and
every 10 minutes in th:e.:._opposite direction.
Choose the correct option for the period T of
the bus service and the speed (assumed
constant) of the buses.

(1) 25 min, 100 km/h
(2) 10 min, 90 km/h
(3) 15 min, 120 km/h
(4) 9 min, 40 km/h

| Contd...
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16 The Sun rotates around its cenl

ion
: ‘revolutit
27 days. What Wil be the period of 'l" oresen
7 . vl gee s +
I he Sun werg to expand to twice o Aol
radius without any external influence?

5 i —— o Si!}"-
the Sun 10 be o §phere of uniform den
(1 105 days :‘:; (2) 115 days
(3) 108 -:lu_\,-s-v-? (4) 100 days

i

o ; . agnetic
17 The electric field in a plane electromag
wave is gj ;
ave is given tp .

E. =60cos (Sxi{]_' S5x10°0W [ m-

_ din
Then expression for the corrcspmt‘ thg
magnetic field :'.gf(hcrc subscripts denote
direction of‘tlzelﬁeld) :

;..’ g
() B, =2x107/ cos (5x+1.5x10°nT

(2} B. =60cos (5x+1.5x10°0T
(3) By =60sjn'(5x+1.5x10°)T

(4) By =2x I0%7cns (5x+I.5xl{]9f]T
(RN

LY
el

18  Two identica]iéharged conducting spheres
A and B have their centres separated by a
certain distance. Charge on each sphere is q
and the force of repulsion between them js F.
A third identicéljuncharged conducting sphere
is brought in contact with sphere A first and
then with B angd finally removed from both.
New force of ré;pifulsion between spheres A and

B (Radii of‘Aénjd B are negligible compared
to the distanp_c; 0

2F

3 (2) 5

3F

— F
) 3 w25

'mJ‘:llglish |
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20

21

An clectric dipole with dipole

'.'Jrh
e ol ; . ¢
5 = 10°0 Cmis aligned with the dlftﬂcti,, Nt

;. i Nof,
uniform electric field of 'Tlagnitu §
o |(}5 N/C. The dijlc is lhcn rntmcd um) d':
1 i L
an vl (:F._60° with respect 1o the Eltttil
field. The change in the potentig) €nergy, ﬂf[”
dipole is : )
(1) 1.0J @) 12
3) 1.51J 4) 08
A microscopzézgas an objective of focal lengy
2 cm, eyepiece of focal length 4 ¢y, ang
i3 3 ¢
tube length of 40 cm. If the distance Dfdistinq
vision of eye is25 cm, the magnification inthe
microscope is
() 125 @) 150
3) 250 4) 100
The outptfg'; (Y) of the given logic
implemenla{i_t};yl is similar to the output of gy
a gate.
[ Conté-
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12 A unitorm rod of mass 20 kg and lenpth 5 m
leans against o smooth vertical wall making an
angle of 60° with it. The other end rests on a
rough horizontal floor. The friction force that
the Noor exerts on the rdd'is (take g=10 m/s?)
{
(H 10043N (2)" 200 N
N
(3) 20043 N (4), 100 N
23 The current passing through the battery in the
given circuit, is:
5.5Q
3
e
(1) 054 (i;):. 254
(3) 154 (4)1204
Cd
w v
24 A model for quantized-motion of an electron

in a uniform magnetic-field B states that the
flux passing through the orbit of the electron
is n(h/e) where n is ar}__i]nteger, h is Planck’s
constant and e is the rgn'_"égnitude of electron’s
charge. According to the-model, the magnetic
moment of an electrofifin its lowest energy
state will be (m is the :a]}ss of the electron)

Lo
he - heB
i | —
() 2am (23_1 nm
3 heb @) _.fﬁ
G) 2nm nm

46_English |
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Which of the following options represent the
variation of photoelectric current with property

of light shown on the x-axis?

]
i

'__J
.E -_ll
gz o
8t o
A c “ L)
- 2 ) - 3
Intensity of fight
Q 1\ T'"l-
35 L
B. = i
f 0 .".'% >
Intensity of light
)
=
g
]
b=
C. 2
=0 T >
Ftequency{% light
e
Eae.
| =) 5
2 £y
25 -
;?;:: % i
D. !
= ] N
0 Sl
Frequency 'of light
10D
v
o~
() Aand C 2) Aand D
(3) Band D (#) A only

| Contd...
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26 An clectron (mass 910 '.” ke ‘l_"‘dl L(!“ﬁ‘(].
L6110 19C) moving with speec

Al : netic
(e speed ol light) is injected into a mag

* 1 -
: : ; 4T pe icular
ficld B of magnitude 910~ |_p<.rpeﬂd ly an
W its direction ol motion. We wish 1o apply

= v
o e, : ; the
untform electric field £ together :’f'l}; o
magnetic field so that the electron doe

defleet from s path. Then (speed of light
C =3x8 ms 1)

- < >

() Eis perpendicular to B and
its magniwde is 27%102 V m-!
._) i

v -

2) Eis parallel to B and
its magnitude is 27102 V m-!
=g Ly

(3) Eis parallel to B and
its nmgniiﬁ"dc is 27x10% V m-!
B (

(4)

it =

£ is perpendicular to B and
its magnitude is 27104 V -1
27 Consider g \\:;B{__{t:l' tank shown in the figure.

It has one wall at x = [ and can be taken
o be veryTwide in the z direction.

When filled with a liquid of surface tension §
and density P.the liquid surface makes angle
05(04 <<1) with the x-axis at x = L. If y(x) is

the height of the surface then the equation for
w(x)is : o

P
x=L
(take @(x)= $inB(x) = tan 0(x) = ‘_ji g is the
d
aceeleration due to gravity)
Py pg 2
f ] l'L L ‘: -
() =37 @ Z2_je
dv= b dx= 8
’ ) t!21 P
oy Y y o
— = — {4) —-—,_-'— =11
(3) dx hY de= 8§

46_English |
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29

30

A pipe open at both cnds'lmsln I'Lmdan?cm;n
frequency / in air. The pipe Is now dipped
vertically in a water drum to half of its length,
The fundamental frequency of the air colump
is now equal to :

_ 5F
(1) f 2

s
(3) 27 4) 5

Ly

A parallel plate capacitor made of circular

plates is being charged such that the surface

charge density on its plates is increasing at g

constant rate with time, The magnetic field

arising due t{i;displacement current is :

(1) constant between the plates and zero
oulsid{'ﬂje plates

(2)

non-zero; everywhere with maximum at
the imaginary cylindrical surface
connecting peripheries of the plates

zero between the plates
outside

(3)

and non-zero

4

zero atall places

[

Three identical heat conducting rods are
connected in series as shown i the figure. The
rods on the sides have thermal conductivity 2
while that@in (he middle has therma|
conductivity K. The

, left end of the
combination is maintained at lemperature 37

and the right end at T. The rods are thermally
insulated from outside. |n steady state,
temperature-qt the left junction is T, and that
at the right junction is I3. The ratio 7/7, i

Pkt
i

3T Y a4y | k | 2k Er
T T,
4 T 5
() 3 (2) 3
5 3
H % (h >
[ Conta,,,
|
|
- AR |
' L
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A constant voltage of 50 V is maintained
between the points A and B of the circuit

shown in the figure. The current through the
branch CD of the circuit is -

%
20
A B
40
|
50V
() 204 & (2 254
(3) 3.04 ﬁ 4) 1.54

=it
In some approprigte units, time (f) and position
(x) relation ofrajymoving particle is given by

t = x2 + x. The'd¢celeration of the particle is
-.—..I

2 ,_4 i 2
M (2x+1) @) (x+|}3
o 2
=~ - —
@+ @ (x40
o
)

Two gases A "'ﬂd B are filled at the same
pressure in sc;giiratc cylinders with movable

pistons of radius{?; and rp, respectively. On

supplying an equal amount of heat to both the
systems revermbiy under constant pressure, the
pistons of gas A~ -and B are displaced by 16 cm
and 9 cm, respectively. If the change in their
internal cncrqu-iis the same, then the ratio

r/ is Lqual'lg

(1) 1_| (2)

(3)

IQ‘&ﬂ e b

46_English |
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In an oscillating spring mass system, a spring
is connected to a box filled with sand. As the
box oscillates, sand leaks slowly out of the box

vertically so that the average frequency (1)

and average amplitude A(1) of the system

change with time (. Which one of the following
options schematu:a"y depicts these changes
correctly?

m(l} ""1
‘ 1 : >
(1) A(r) k—
- o
i“-..
A i
o) TN
1\"'
-
¥
2) A1)
3 -
(3)
) t >
el
Nl
w(r) ™
oy
l“_“ .l
[
4 Y
@) FIT)) O —
-
| Contd...
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37

i ; vom a larger solid
A sphere of radius K is cut [rom a larger s

sphere of radius 2R as shown in the figure. ':‘ihc
ratio of the moment of inertia of‘lhc smin :.;'
sphere to that of the rest part of the spher
about the Y-axis is :
I[\Y
t } 5x 3
1
==
7 G 7
D 75 ‘) —
D o= @) =
£d
7 : 7
A =t fay L
(3) 5 ' ( ) -

The plates of a ﬁziriallel plate capacitor are
separated by d. Two slabs of different dielectric

d

5 >
respectively are inserted in the capacitor. Due
to this, the capacitance becomes two times

larger than when zth'cre is nothing between the
plates. 4

If K| = 1.25 K,, the value of X is :
(1) 233 “1 @) 1.60
3) 1.33 (@) 266

3
constant K| and K, with thickness §d and

There are two inclined surfaces of equal length
(L) and same angle of inclination 45° with the
horizontal. One of them is rough and the other
Is perfectly smooth.A given body takes 2 times
as much time to slide down on rough surface
than on the smooth surface. The coefficient of
kinetic friction (].1;() between the object and
the rough surface. is ¢lose to

(1) 0.40 (2) 05

(3) 0.75 4) 0.5

46_English ]
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A bob of heavy mass
string of length /, The
velocity

m s SUSpundﬁ:d b

i sl bob i Given , h * Ly,
0 as shown jp figure If th urur,,i'r-..
. : B - N . al
slack at some POIN 7 makin,, . 8 Mr]“gr,"
NE an angle . 5
10 of [hc % ;:_-1 frr”h

Van

of
the

the horizonlul, the rat

bob at point 7 (o its initig speediy. -
Mo

™
-~ L |
Y
. N
D

- i

1
() (2+3ﬂn6

S
NN
{

B sl Bl
1224711

I r~i
@) cos B A
2+3sinB
| -
sin O A P
(3) —_— &
2+3sin 0 &
i
| N
@ (sin0)/2 o

A container has two chambers of volumes
¥, = 2 litres and V5 = 3 litres separated by
partition made of a thermal ins;q'l_!':uor. Thf
chambers contains n, = 5 and n, =4 molesot
ideal gas at pressures p, = ), e “nf_{
P> =2 atm, respectively. When thé partition ®

LE) ¥ .
: s 111 um
X . 1% ~ att: s an ¢ u||lhr!
lcmOVCd, the mixture attains an ‘_(]

pressure of ; 4
(1) 1.6 atm (2) 1.4 atm
(3) 1.8 aun (4) 1.3 atm

[ Contd-
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To an ac power supply of 220 V at 50 Hz. a
resistor of 20 €2, a capacitor of reactance ZS‘Q
and an inductor of reactance 45Q are
connected in series. The corresponding current

in the circuit and‘:‘ghe phase angle between the
current and the yoltage is, respectively -

(1) 7.8 A and 459
(2) 15.6 A and 300
(3) 15.6 A and 459
(4) 7.8 A and 30°

The radius of Martian orbit around the Sun is
about 4 times the radius of the orbit of
Mercury. The Martian year is 687 Earth days.
Then which of tLHfE following is the length of
| year on Mercury ?
(1) 225 earth days
(2) 172 earth days
(3) 124 earth days
(4) 88 earth days

e
A balloon is made of a material of surface
tension S and itéf?hﬂation outlet (from where
oas is filled in it) has small area 4. It is filled
with a gas of density p and takes a spherical
shape of radius R“When the gas is allowed to
flow freely out ofit, its radius r changes from
R to 0 (zero) in time T. If the speed v(r) of gas
coming out of the balloon depends on r as 14

and T oc S@4P p¥R® then

1 ™1 1 5
= — ::—,ﬂ-—, =-l! =——,8=—
(3. @ 2"1;;‘"2[3 Y="3°772
&
ol ] 7
et iD= B=-ly==0=7
(2) a 2,':1'?___::2& Y=7,9=7
T o . T
==, a=—,p=—7, :_-,E.:_..
@) a=me=mb=-p =555
4 u=l—a=l p=-Ly=+l0==
(} 2' ,21 ;]’ L]

46_English |
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A particle of mass m is moving around the
origin with a constant force F pulling it
towards the origin. If Bohr model is used to
describe its motion, the rat"i_iys r of the nt" orbit
and the particle’s speed v.in the orbit depend

on n as

1) rocnl/3; voc n2/3-

(3) rec nd3; vec H"l{@j

L

@) ronlfd; ve /3

Wij
i
i

Two identical point masses Pand Q. suspended
from two separate massless springs of spring
constants k; and ks, resﬁé_:ctively. oscillate
vertically. If their maxinga}m speeds are the
same, the ratio (AQ/A P {flf:i_the amplitude A
of mass Q to the amplitude A p of mass Pis:

L{

kl L kz
(D E ¥3) &

kl L k:)_
3 \k, ) %
<

A ball of mass 0.5 kg is dfopped from a height
of 40 m. The ball hits thejground and rises
to a height of 10 m. The iimpulse imparted to
the ball during its collision with the ground is
(Take g = 9.8 m/s?)

(1) 7NS
(3) 84 NS

2) ©
(4) 21 NS
| Contd...
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pelow -1? comagnetisim is cons
. Jerrt

Parﬂmﬂ

(iaen (
' sm.

atemen” - gneti ‘
.‘-1,1‘; extreme form d_f‘ gt of unpmrc
i « The'n .

‘ J M (7= . the same
electrons 110 5o (Z = 60):
N e se the
asipiroL b he abn‘vc slatcmcnls: choo e
Yhe options given below:

-4 Statement 11

40

correct ans
(N Both
are false

Gatement | 18 lr.ua but
is false .
Gratement [ 18

Statement 11
(2)
3) F:;l::ic but Statement Il

) [

is true N -

Both Statement }.and Statemen

0N

For the rcaclion‘:iﬂ(g):i ?.B(g). the
backward reaction rate ‘constant is higher than
the forward reaction rate constant by a factor
of 2500, at 1000 K. ‘

[Given : R = 0.0831 Datm mol! K1

Kp for the reaction 31:1000 K is

(1) 2077x105 }(2) 0.033

(3) 0.021 ‘(4!) 83.1

4)
are truc

47

N
48  Total number of pgésible isomers (both

structural as well as stereoisomers) of cyclic
ethers of molecular formula C,HgO is :

() 8 @) 10

(3) 1l 4) 6

. '.-)
Given below are twa'siatements :
Statumcm. 1 © A bypothetical diatomic
molecule with bond order zero is quite stable.
Statement 11 : As borid order increases, the
bond length increase§!
In the light of the aboVve stateme
Most appropriate andwer
given below : N
(1) Both Statement |
are false
(2) §l;|lcmun1 Lis try
15 false
(3) ‘.ﬁlululncn'ﬁ Iis fal
15 True
(3) Both Statemen 1
are Ly

49

nts, choose the
from the options

and Statemeng 1l
e but Statemen 1l
se buy Slu!cmcnl i1

and Statemeny 11

46_Fuglisy, |
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Identify the suitable re
conversion,

0 o
CHO
EEHJ\OCII:,-% @

(1) (i) AIH(iBu), (ii) H,0
(2) (i) NaBH,, (ii) H*/H,0
(3) H,/Pd-BaSO,

(4) (i) LiAIH,, (ii) H'/H,0

agent for (p, foll,
h“iﬂ

The major product of the Follnw-ii{g reaction ;
K 5:

o .

(i) CH;MgBF
@J\/\CN (excess)
CHy on i
(n @></\n/ ’
0

(i) Hy0°
H,C OH

H Yy
@) MCI-I3 -

o

)
© e T
0O

CH; OH o
() @></\CN @

|'
If the molar conductivity~(Am) of 2

0.050 mol L-! solution of a monobasic ucaL‘
acid is 90 S cm? mol~!, its extent (degree) o
dissociation will be o

[Assume A% =349.6Scem? mol-! and
AL =504Sem? mol-!.]

() 0.125
(3) 0.215

(2) 0225

4) 0.115
[ Contd-
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NOT belong t
s 1“‘“5'.3‘:[5 test™? which of the compoundiwill be having the
(1) 2Na+8§ — Nagg- minimum conductance ih'solution?
@ NatX — +N;}I{l (1 [CO(NH3}4C|2}
3) 20004C —, 36,4 @ [colny) ol
A ™ COz f?

o Tt
(4) Na+C+N — ﬁﬁCN (3) [Co NH3), CI]Ci

e (4) [Co(NH;) );Chs | -i

54  The correct order of decr@asing acidity of the [~
following aliphatic acidsjs :
(1) CH;COOH > (CH )’CIICOOH >
(CH,);CCOOH > ﬁzcbOH
(2) HCOOH > CH3C0®H >
(CH;),CHCOOH > (CH,),CCOOH
(3) HCOOH > (CH,);CCOOH >

2"

57  Sugar ‘X’ 4
A. is found in honey. =}
B. is a keto sugar. —<

C. existsin o and B * T"Anomeric forms.

D. is laevorotatory.

(CH53),CHCOOH >-CH;COOH A 1 )
ps (1) D-Fructose (2) Maltose
(4) (CH,);CCOOH > (CH,),CHCOOH >
CH,COOH > HCOQH (3) " Sucrose (4); D-Glucose
J PRy
o o
. ) ) €S 58 How many products (in_&_‘.rljlxding stereoisomers)
55 -Match List1 w1th List “?f are expected from monochlorination of the
List I f:i.:ist II following compound? ™
(Name of (Deficiency HiC_
Vitamin) 1_3!isease) /CH*- CH, —-CH3i
A. Vitamin B;, L *f_,'v’@heilosis H4C :’
F . o
i i 11. __Convulsions
B. Vitamin D 1; nk a 3 s
i i £ i
C. Vitamin B, 111.£*Rickets 3) 6 (4}:_;2
D. Vitamin By V. t{ ernicious anaemia ii

Choose the correct ﬂﬂswif from the options | 59 Which one of the following compounds can
exist as cis-trans isomers?

given below : .
(1) A-1V, B-lII, C-1, D-1 (1) 2-Methylhex-2-ene
2) A-II, B-II, C-I, D-1V (2) 1,1-Dimethylcyclopropane

(3) 1,2-Dimethyleyclohexane

(3) A-1V, B-lII, Cc-11, D-1
(4) Pent-1-ene

(4) A-l, B-111, C-II, D-1V

11 | Contd...
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ons does
etions
Which one of the following ret

t?
NOT pive h-:n:cnt' h\. the produc

l ! Mo 01.
n-hexane 773K, 10 - 20 ati.

N
™
&d hot Tron Tube

Q) HC=CH Tk

i

(3) ®_ Ne wanmn

@*%rﬂ%—»

N
Ll
Phosphoric acid ionizes in three steps with

their ionization cofistant values

(1)

4)

Kal’ Kaz and Kas,respecuvely,

(]
while K is the uv?%ll ionization constant.

Which of the follﬁing statements are true?

A. logK=log @: + log Kaz'*' log KaB

L |
B. H3PO, is avstronger acid than H,POj

and HPO_}*. '

Choose the currer‘_:j answer from the options
given below:

(1) A and C only
(2) B, C and D only
(3) A, B and C only
(4) A and B only

46_English |
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Among the following, choose the One
cqual number of atoms.

212 ofb{'EzCO:, (s) [molar magg ~ 10g
248 g ofNa““O (s) [molar mass = 62 g g
240 g oﬂ\L&QH (s) [molar masg = 40 g
12 g of Hzf(g) [molar mass =2 g]

E. 220g DfCﬁg(g) [molar mass = 44’ g]
Choose the céFrect answer from the Opti

Wilh

>

o 0w

given below :

(1) A, B, and D only
£

(2) B,C, and]y only

(3) B,D, anc!;l:: only

(4) A, B, and»@

0l
V4]
Given below arg two statements :

only

Statement I :*Cike nitrogen that can form
ammonia, arsenic can form arsine.

Statement II;z~Antimony cannot form
antimony penfoxide.

In the light 011 tl_:lﬁ above statements, choose the

most appropriate answer from the options
given below £

(1) Both Statement I and Statement I

are incorrect
2)

Statement | is correct but
Statement Il is incorrect

€)

Statemeﬁt"l is incorrect but Statement Il
is correce:.

(4) Both Statément I and Statement II

are corrdct
™
fh i

Dalton’s Atdnjlc theory could not explain
which of the 'fol lowing?

(1) Law of constant proportion
(2) Law of multiple proportion
(3) Law of gaseous volume

(4) Law of conservation of mass

| Contd..
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The correct order

of the given qmmzti: ?SLCK e

(1} N-ethylethanamine > ethanamine >
benzenamine > N-mcthylamlme

(2) N- cthylclhanammé > ethanamine >
N-methylaniline ::- benzenamme

(3) benzenamine > ethanamine >
N-methylaniline >N-ethylethanamine

(4) N-methylaniline : > b-:nzcnarmne >
ethanamine > N- ctbylethanamme

Which of the following statements are true? 69

A. Unlike Ga that has a very high melting
point, Cs has a VE.ry low melting point.

B. On Pauling scale_, ‘the electronegativity
values of N and CI are not the same.

GO 0 Sl & Caz*'* and S2- are all
isoelectronic speciés.

D. The correct Ordé:i'%f the first ionization
enthalpies of Na,' Mg, Al, and
Si is Si > Al > Mg > Na.

E. The atomic radius of Cs is greater than

that of Li and Rb.
Choose the correct answer from the options

given below : {7}
(1) C and E only ?"“
(2) Cand D only r:

3) A,C, and I:,onl)f |
(4) A,B,andE onlye

!

Match List - I with L_.i.qt -1I

List-1 List-11

A. XeOy [.  sp3d; linear

B. XeF, IL! sp; pyramidal

C. XeOF, }Il1 sp>d?; distorted
-, octahedral

D. XeFg {‘Q} sp>d?; square
d pyrami'dal

Choose the correct answer from the options
=4

given below :
(1) A-Il, B-l, C-liL, DIV
(2) A-1V, B-ll, C-111, D-1
(3) A-1V, B-lI, C-1, D-ll1

70

(4) A'I[j B'lp C"I.Vn D'lll

46_English |
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The standard heat of formatlio
keal/mol of BaZtis:

[Given : standard heat of formation of

5027 ion (aq) =
standard heat of crjfsta'.hsallon of

BaSO,(s) = —4.5 kcawmol standard heat of
formation of BaSOy (s) = _ 349 kcal/mol]
(1) —133.0 Cp) + 133 0

(3) +2205 (4) —128.5

=4

= = 216 kcal/mol,

Among the given compounds 1- {11, the correct

order of bond dissociation energy of C-H bond
marked with * is :

' H
H -~
* “--c&C/*
H
I i - 1

@ m>1u>1
4) u>1>1il

() 1>11>11
@) un=u=1

Predict the major product ‘P’ in the following
sequence of reactnons -

u (1) HBrjbcnzoyl peroxide
o B
(iii) N:LLH 2)/C,HOH (Major)
1 =1
(M H,NH,
CHy
(2) 5
n—_.;.i
NC
3) OA-CHJ o
l\{‘\
p=|
(ICHJ =i
4
@) CH,NH
[ Cont
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71 Mateh List = 1 with List - 11

List-1 List-11
e "|l'lI st
A, Haber process . Eeesily
pdCl,

B.  Wacker n'xilijnliun 1. 1
C. \\'ilkinsorgéamlyst I11. [(PPhy);RACI]
Zicgler cg‘l‘:lzlglyst [V, TiCl, with
AI(CH;)3
Ly .
Choose the cn'rzrect answer from the options
given below ;¢

(1) A-I, B-III, C-I, D-IV
(2) A-1, B-1l, C-lII, D-IV
(3) A-l, B-[\a’,:'_C-III, D-II
(4) A-L, B-I1.G-IV, D-1I

]
Energy and radius of first Bohr orbit of
He™ and Li2+ ?iEé:

[Given R;; = 2]8 x 107187, a; = 52.9 pm]
(1) E (Li**) =-8.72x10-18J;

r (Li%%) =f564 pm

E.(He") =#19.62x10-18 J;

r,(He") =:15'6 pm

E, (Li%%) =-1 9.62x10-16 J;

r(Li?*) =17.6 pm

E,(He") = -8.72x10-16 J;

ro(He™) =26.4 pm

E,(Li2*) £28.72x10-16 .

n(LiZ) =176 pm

E, (He*) "K_-r;.iu;.sleo-m;;
r(He®) =,17.6 pm
E,(Li2%) S119.62x10-18 5.
(L) =17.6 pm
E(He*) = —8.72x10-18 ),
r(He')y =264 pm
46_English |
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74

75

76

Given below are two statements - -
labelled as Assertion (A) and the Othe, 1\
labelled as Reason (R). '
Assertion (A): "~ _1 undcrgocs 8.5
reaction faster,than -~ _~~_CI. N
Reason (R) :-lodine is a better leavin
because of ig?’i']arge size.

In the light or:tﬁe above state_mcnts‘ choose the
correct answer from the options given beloy,.
(1) Both Arand R are true but R is no
correct €xplanation of A

A is true but R is false

A is false but R is true

Both A 515::1 R are true and R
explanation of A

g gr{)uD

ot the

(2)
(3)
4)

is the COITQC‘L

wi-sh

If the half-lifé:(t, ,) for a first order reaction
is 1 minute, then the time required for 99,99,
completion oi_.'_the reaction is closest to -

() 4 minutf.‘.si

(3

(2) 5 minutes
10 minutes (4) 2 minutes

Which of Eh;following aqueous solution wij|
exhibit higheest boiling point?

(1) 0.01M KNo,
(2) 0.01M Np,SO,
(3) 0.015M€4H,,0
(4) 0.01M Ukea

Higher yield of NO in
N> (g)+ Oi(é) +=2NO(g) can be
obtained at -

[AH of the Faction = + 180.7 kJ mol-]

A. higher t:éinpt:ra[urc
B. lower liﬁ_‘]peralurﬁ

C. higher goncentration of N,
D. higher concentration of O,

Choose the correct answer from the options
given below:

(1) B, Conly
(3) A, C, D only

(2) B, C, D only
(4) A, D only

| Contd-
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Mateh List T with List 11
List 1 List 11
“‘"“.) (Group Number
L :11' in Cation Analysis)
A. (.n_*_ I Group-]
B. Mg 1. Group-11
& 1’13!2_3 UL Group-1v
D. AIT’ V. Group-v]

Choose the correct answer from the options
given below :

(n A‘-gl, B-1V, C-1, D-I1
(2) Aglll, B-I1, C-1V, D-]
(3) AHIL B-11, €1, D-1v
it
(4) A&lll, B-1V, C-11, D-]
g
ir‘;
The ratio of the wavelengths of the light
absorbed by a Hydrogen atom when it
undergoes n=2 - n=3 andn=4 _y n=6

transitions, respectively, is
*3

I~

1 T

AT

™

1
2 r
@ 35
it
Ty ey 1

@ (o

i

The correct order of the wavelength of light
absorbﬁ:ﬂ by the following complexes is,

- i
[C‘ET}“HD’ ] B. [Co(CN),]
o
e [alfior ] o [r0m0)]"
-

Choose the correct answer from the options
given below:

(1) B€<A<D<C
(3) C<A<D<B

(2) C<D<A<B
(4) B<D<A<C

46_English |
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Idemtify the correct orders against the property
mentioned
A. 11,0 > NH4 = CHCly
B. XecF, > XeOy > XcF,
pairs on central atom
C. O-H=>C- H > N-O -
D. Ny>0,3 ll-,
Choose the corvéct answer from the options
given below : "-""5
() B.D onl)u -
(3) B, C only«i

dipole moment

number of lone

bond length
bond enthalpy

(2) A, C only
(4) A, Donly

Match List I with List 11
List1 List 11
(Mixture) 7, (Method of
?' Separation)
A. CHCly+ =\ L Distillation
CGHSNHzf X! under reduced
l";i pressure
B. Crudeoilin,  IL Steam
petroleum distillation
industry
; y
C. Glycerol from 11I.  Fractional
spent-lye i~ distillation
D. Aniline - »?gf;tcr IV. Simple

A distillation

Choose the cor"'ﬁct answer from the options
given below : :‘

(1) A-1V, B-III, C-II, D-I
(2) A-lll, B-1V, C-I, D-II
(3) A-llI, B-l:'@fc-u, D-I
(4) A-1V, B-IlI,.C-I, D-I1

w

If the rate conngaint of a reaction is 0.03s !,
how much timé.:ducs it take for 7.2 mol L}
concentration of-the reactant to get reduced to
0.9 mol L1? v

(Given: log 2 =0.301)

(1) 23.1s (2) 210s

(3) 21.0s (4) 69.3s

[ Contd...
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RY  Which among the following uicclrc‘m:ﬁ
contipurations belong 10 main group elements?
2
A [Neps! B. [Ar]3d34s-
bl 10 4!
C. ]l\'r|4ul'|“55'5p‘q D. [Ar]3d
E. [Rnjsr6d7s '
Choose lhc:c:)rrcct answer from the option
given below 3
(1) A and Clonly
(2) D and E only
(3) A, CandD only
(4) B and E only
84  Match List E-I with List - 1I
List-1 ©J List-I
(Examﬁlé) (Type of Solution)
A.  Humidityl I. Solid in solid
B. Alloys o [1. Liguid in gas
C. Amalgams I1I. Solid in gas
D. Smoke IV. Liquid in solid

Choose 1he_hrg';_';rrrect answer from the options
given below.:

(1) A-IlI, BT, C-IV, D-II

(2) A-lll, B, C-IV, D-II

(3) A-IIl, B, C-1, D-IV

(4) A-ll, BV, C-1, D-111

85 5 moles of liquid X and 10 moles of liquid Y

make a solution having a vapour pressure of

70 torr. The'vapour pressures of pure X and Y

are 63 torr and 78 torr respectively. Which of

the following, is true regarding the described

solution? ..

(1) The solution shows negative deviation.

(2) The so_ip:’tion is ideal.

(3) The solution has volume greater than the
sum of individual volumes,

(4) The solution shows positive deviation

46_English |
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C(s) + 2Hy(g) = CHylg): AH=_7, Bl
Mgy
gi""cz, _
) above reacy an
[R — reactants: P — products 1on)

Which of the following diagrams
accurate representation of the

Encrgy
(kJ mol™")

I

| 0 e
— Reaction progresg

ey

Energy
(kJ mol™ )

)

Energy
(kJ mol™1)

T &/

—iy Reat}‘ﬁbn progress

3)

Energy L
(kJ mol1)

) =

-_91 Reaction progress

i
Which one of the following compounds does

not decolourize bromine water?
(™}

[ Contd.
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Consider the followip,

KO5. H504 and 'th; OMpoungy -
2=

The oxidation states of;

O r‘_:[;l:{:l:u:]l:. underlineq clements
(D
(2)
3)
“)

+2, -2, and +¢ "3
+1, -2, and +4 ;‘5‘
4. 4, and +6 1
+1, -1, and +6 =4
Given below are tywq Statements -
statement 1 ; Benzenediazonjym It i
prepared by the react; salt 1s
acid at 273 - 278 K.
the dry state.

on.of aniline with nitrous

:_gtg'dccomposes easily in

}_"-\.

itate:"lent IT : Insertion of iodine into the

enzene ring is difficult and h

iodobenzene is b ation
! pr:epag_g‘nﬂl through the reaction

of benzened:azamumi'sa_.lt with K1

In the light of the above statements, choose the

m..ost appropriate answer from the options

given below :

(M

Both Statement tI__qand Statement 11
are incorrect

(2) Statement I is correct but Statement 1
is incorrect <t

Statement I is i:{§t?rrect but Statement 11
is correct Jj'

Both Statement [ and Statement I

are correct

3)

“4)

el
.

Which of the following are paramagnetic?

=

A [NiCLP~  +B. Ni(CO),
E-:_=-1
2— =% . 2+
¢ [Ni(CN)4] ,,;D [NI(HZO)G]
0
E. Ni(PPh3), w

Choose the correct z’fﬁ*swer from the options
given below: .

(1) B and E only

(2) A and D only

(3) A, D and E only

(4) A and C only

46_Fnglish |
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Mateh List - I with List - 11

List - 1 List - 11
A. Progesterone I. 'Pars intermedia
B. Relaxin 1. i()vary
C. Melanocyte 11 If\'drcnal
stimulating hormone Medulla

D. Catecholamines V. i(?brpus luteum
Choose the correct answer from the options
given below :

(N AV, B-11, C-11I, D-I

2) AL B-IV, C-L DL

(3) A-IIL, B-II, C-IV, D-I b

(4) A-IV, B-II, C-I, D-IIl

“A

The blue and white selectable markers have
been developed which differentiate
recombinant colonies from nonsrecombinant
colonies on the basis of their ability to produce
colour in the presence of a chromogenic
substrate.

£

.....

Given below are two statem'_e_:lts about this
method: ‘
Statement I : The blue colouré’@jicolonics have
DNA insert in the plasmi;}énd they are
identified as recombinant colonies.

-
f

Statement II : The colonies ‘without blue
colour have DNA insert in the plasmid and are
identified as recombinant colonies.

In the light of the above statements, choose the
most appropriate answer from the options
given below : |y

4

(1) Both Statement | and Statement I
are incorrect 1

(2) Statement | is correct but Statement 11
is incorrect 1]

(3) Statement | is incorrect but Statement 11
is correct

(4) Both Statement | and Statement 11
are correct

[ Contd...
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. One i$
ements - On

y . al ;
Given below are two st d the other 15

labelled as Assertion (A) a0
labelled as Reason (R)-
Assertion (4) : Cells of lhc:l mhave .
dense cytoplpsm and generally
one nucleus. cleus
Reason (R)¥ Presence of more thal};_mf_?e'::y of
in the tapetum increases the ¢ ici
nourishiné‘:}ﬁc developing micr
cells. = c
In light ot‘__lj_w above statements, chaos::i;:s
most appropriate answer from the op
given below :
(1) Both A and R are true but
correct.explanation of A
(2) A is true but R is false
(3) A is false but R is true

S
petum posses
re than

R is NOT the

; t
(4) Both@land R are true and RIS the correc
explanation of A
O
Match List ] with List IL
List I List 1T
A. Pteridophyte . Salvia
B. Bryophyte 1. Ginkgo
i05 Iytrichum
C Ang.?§})em 1. Poly
D. Gymf;_g:spenn IV. Salvinia

Choose the.pption with all correct matches.
(1) A-IVLB-III, C-1, D-I
(2) A-TI“B-1V, C-1, D-II
(3) A-IV'B-111, C-II, D-1
(4) A-LIL, B-1V, C-II, D-I

Match List I with List - I1.

List (T} List - II
A. Heart™ I.  Erythropoietin
B. Kidney,, II. Aldosterone
C. Gastrouintestinal 111, Atrial natriuretic
tract 'O factor

D. Adreral Cortex [V, Secretin

Choose the correct answer from the options
given below : _

(1) A-1V, B-111, C-II, D-I

(2) A-I, B-III, C-1V, D-II

(3) A-Ill, B-1, C-1V, D-|

(4) A-ll, B-I, C-IIl, D-1v

46_English |
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Who proposed that the genetic coqy for g, .
acids should be made up of three mm]'-'hur:mﬂ
Pows €57
(1) Francis C{l';’:k
onod
(2) Jacque Mono
(3) Franklin Stahl
)
(4) George Gamow
LA |

1
Which of the following is the uni

t
productivity of an Ecosystem? of

(1) KCal m2-
@) KCalm¥’
(3) (KCal m2)yr-!

&
(4) gm? -
LEr
. i
Which of the following is an example of 3
zygomorphic flower?

(1) Datura =

(3) Chilli 7

et
"ufi

(2) Pea
(4) Petunia

Match List I with List 11 -

Listt © List I1
A. The Evil ';‘}llartet I. - Cryopreservation
B. Ex situ Il Alien species
conservatiijﬁ invasion
C. Lantana ;-i III. Causes of
camara k}; biodiversity
R;i losses
D. Dodo i [V. Extinction

Choose the oﬁl‘iz}n with all correct matches.
(1) A-IlI, B-I, C-II, D-IV
(2) A-IlI, B-1V, C-I1, D-I
(3) A-Il, B-II, C-1V, D-I
(4) A-ll1, B-1I, C-I, D-IV

| Con td...

G Scanned with OKEN Scanner



""" {ll\ en beloww are lwo st
statement 1 ;|
s . I ecosyere
unidirectional Now of Cn) Stem,
—— c
producers (o consumers

:lluml:ms .

lhl.:rc is
'8y of sun from

Statement I Egog
E + LLOSyste
ystems,

X are ex
:ml law of "I""rmud}'nmnié‘ exempted from

) S.

In the light of the aboye dtatement

most appropriate answer f; S, choose the
0

. I .
given below : om the options

(N Both statement | ar:'dr
. -Sta
are incorrect f S

{ )] Sldte"'ﬂ“t I |S Cor [ecl b sta
= ut
4 " t [Emenl I]

(3) Statement L is incorrect b
H ut
is correct ) statement 1

:_"_'.
(4) Both statement | and'statement I
are caorrect L'

= &

101 The protein portion of a:ﬁ?%enzyme is called :
(1) Coenzyme L '
(2) Apoenzyme 4
(3) Prosthetic group
(4) Cofactor '

Py
L—

102 Twins are born to a family that lives next door
to you. The twins are a boy and a girl. Which
of the following must betrue?

(1) They are fraternal t;y.r:i‘ns.
(2) They were conceived through in vitro
fertilization. v~
(3) They have 75% ideritical genetic content.
(4) They are monozygotic twins.
I';c
103 After maturation, in priniary lymphoid organs,
the lymphocytes migraté for interaction with
antigens to secondary tl}ﬁnphoid organ(s) /
tissue(s) like: d
A. thymus B. t:bone marrow
C. spleen D. ~fymph nodes
E. Peyer’s patches -
Choose the correct answer from the options
given below:
(1) A, B, C only
(3) C, D, E only

(2) E,A,Bonly
4) B, C, D only

46_English | 19
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[n frog. the Renal portal system is a special
venous connection that acts 10 link :
(1) Liver and kidney

(2) Kidney and intestine

(3) Kidney and lower part of body

(4) Liver and intestine

Which of the Folloyy:ibg enzyme(s) are NOT
essential for gene cloning?

Restriction enzymes

DNA ligase

DNA mutase

DNA recombinase

. DNA pt}lymcrég".'g

Choose the COI’I‘QCt——_ii_I’ISWSI‘ from the options
given below : 4

(1) Aand B only ‘

@2 DandEonly

(3) BandC only

(4) CandDonly

moOw >

With the help of given pedigree, find out the
probability for the birth of a child having no
disease and being a ¢arrier (has the disease
mutation in one alléle of the gene) in Fj
generation. B

D UnafTected male

- Affected male __5
@ Carrier female .
o Unaflected female

@ Afected female

(nH 12 (2) 1/8
(3) Zero 4 14

| Contd..
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111

Jqeristic
i , . e sharaelertst
Which one of the following is the chari

feature of gyimnosperms?

(1) Seeds are naked.

() Seeds are absent.

(3) Gymnosperms have flowers for
reproduction,

() Sceds are enelosed in fruits.

The first menstruation is called :

(1) Menarche (2) Diapause

(3) Ovulation = (4) Menopause

In bryophytes, the gemmae help in which one
of the following? -

(1) Asexual reproduction
(2) Nutrient absorption
(3) Gaseous exchange

(4)

Sexual reproduction

How many meioti¢ and mitotic divisions need
to occur for the development of a mature
female gametophyte from the megaspore
mother cell in an angiosperm plant?

(1) 1 Meiosis and 2 Mitosis
(2) 1 Meiosis and 3 Mitosis
(3) No Meiosisand 2 Mitosis
(4) 2 Meiosis w_____nw_ 3 Mitosis

Role of the waterivascular system in
Echinoderms isy:

Al
B.  Excretion and Locomotion
C. Capture m:w..wwmzmuon of food
D. Digestion and Respiration

E.  Digestion and Excretion

Respiration and Locomotion

Choose the nc_.,“-.._wwq answer from the options
given below : L

(1) A and C Only

(2) B and C Only

(3) B,Dand E Only

4) Aand B Only

46_English |
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114

115

Read the following statements on p|
and development.
A. Parthenocarpy can be induced by

ant Erowyy,

MH_LM.::.
B. Plant growth regulators can be .:_c:_{_&
in promotion as well as inhibitio, of

growth.
C. Dedifferentiation is a
re-differentiation.
D. }_umnmmmm.mna is a plant growth Promote,
E. Apical n_cm:m:m:nn promotes the growth o
lateral buds.
Choose the o"ﬁﬁ_ﬂo: with all correct stateme
() A,C,Eonly (2) A,D,E only
(3) B,D,Eonly (4) A,B,C only

¢

—w—.ﬁiﬂCﬂEmm:ﬂ —.Cﬂ

nts,

Which of the following type of m:._:._:i@ is
present at Hrn time of birth and is 3 non-
specific type of defence in the human body?

(1) Innate :.s..w_..:::%

(2) Cell-mediated Immunity
(3) Humoral-Immunity

(4) Acquired Immunity

Why can’t insulin be given orally

to diabetic
patients?

() It i::...n digested in Dmm?o-_:ﬁmz:m_
(GI) tract

(2) Because of structural variation

(3) Its bioavailability will be increased

(4) Human body will elicit strong immune
Bmvc:mﬂ

-
Which one of the following equations
represents the Verhulst-Pearl Logistic Growth
of population?

@ Ltk
3) == th
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G Scanned with OKEN Scanner



g6 Sileneing of specific mrNA |
1

RNAI because of - S possible via

1) Inhibitory mm_~2>.,.”_.w_
(2) Complementary ,_,MZ}
(3) Non-compleme o)
FB#W.—-.U—.. mmxz.}

) Ooa_u_ns._n:”m_% dsRNA

5

Match List I with rmm.wu.—m-

117
List I ]
List 11
A. Adenosine =N
5 denylic ac ) itrogen base
. » w acid ..W_._.. Nucleotide
C. E._.En. ‘E,,_# Nucleoside
U- }—N.::..—ﬂ MHLM. }Emso m.ﬂm.ﬂ
Choose the option with all correct matches.
(1) A-IIL B-1I, C-1V, Dil
(2) A-lLL, B-II, C-I, D-IV
(3) A-llL B-III, C-I, D=1V
@) A-lIL, B-1V, n-:.w.m;
o O
118 Frogs respire in water; by skin and buccal
cavity and on land byiskin, buccal cavity and
lungs. i
Choose the correct mmw.@n_. from the
following :
(1) The statement is true for both the
environment
M)
(2) The statement is false for water but true
_ for land i
(3) The statement is T_wn for both the
environment i

(4) The statement is true for water but false
A

for land ¥

119 Al living members of the class Cyclostomata

are.

(1) Endoparasite  (2) Symbiotic

120

121

(3) Ectoparasite (4) Free living

46_English |
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Identify the statement that is NOT correct.

(1) The heavy and light chains ar¢ held

together by disulfide bonds.
(2) Antigen binding site is located at
C-terminal regio  of antibody molecules.
(3) Constant region of heavy and light chains

are located at C-terminus of antibody

molecules.

(4) Eachantibody has two light and two heavy

chains.

Given below are two statements @ one is

labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A) : The primary function of the
Golgi apparatus is ﬂm_ﬁmnwmmﬂ the materials
made by the endoplasmic reticulum and

deliver it to ..E_.mhn_.__.._;m_. targets and outside the
cell.
Reason (R) : ﬁmm".m._n_.m containing materials
made by the endoplasmic reticulum fuse with
the cis face of the Golgi apparatus, and they
are modified and qn_n@mna from the trans face
of the Golgi uﬂﬁmqm&m..

; o)
[n the light of the above statements, choose the

correct answer from the options given below:

4y

(1) Both A and R are true but R is not the

correct explanation of A
(2) Aistrue but R is false
(3) A is false but R is true

(4) Both A and R are true and R is the correct
explanation of A

| Contd...
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Consider the following !

A, The reductive division for 1hc.humzm

h female gametogenesis starts carlier than
that of the male gametogenesis.

B. The gap hcw;ul:i:n the first meiotic .division
and the second meiotic division 1s much
shorter for males compared to females.

C. The first polar body is associated with the
formation of the primary oocyte.
D. Luteinizing Elormone (LH) surge leads to

disintegration of the endometrium and
onset of menstrual bleeding.

Choose the corréct answer from the options
given below : ‘

(1) AandCare true

(2) B and D are true

(3) BandCare true

(4) AandB are l;ue

Match List I with List 11 :

List I ) List 11
A. Scutellum ‘ I. Persistent
nucellus

B. Non-albumindtls II.  Cotyledon of

e
g

seed §ui Monocot seed
C. Epiblast %/ L. Groundnut
D. Perisperm W Rudimentary
cotyledon

Choose the option with all correct matches.
(1) A-IV, B-III, {‘c_‘-‘iu, D-I

(2) A-1V, B-III, G-I, D-II

(3) A-Il, B-1v, C4IIl, D-1

() A-IL B-IIL, CAV, DI

What is the main fiinction of the spindle fibers
during mitosis ? *

(1) To synthesize new DNA

(2) To repair damaged DNA

(3) To regulate cell growth

(4) To separate the chromosomes

46_English |
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126

127

128

Which of the following statemeny

RuBisCO is true?

(1) It has higher affinity for oxyge, i
carbon dioxide. L

It is an c,:ln:z:zymc involved in the phot

of water. |

It catalyzes the carboxylation of RuBp

It is active only in the dark. '

uh,,ut

an

(2) e
(3)
(4)

Given below are two statements :
Statement I : The DNA fragments extracteg
from gel electrophoresis can be useq in
construction of recombinant DNA,
Statement IL : Smaller size DNA fragmep,
are observed near anode while larger fragmen;,
are found nearithe wells in an agarose ge|,
In the light of the above statements, choose the
most appropriate answer from the options
given below : '

(1) Both statement | and statement []

are incorrect

Statement [ is correct but statement []
is incorf'_l“i":'i:t

Statement [ is incorrect but statement [|
is corre_él

Both statement | and statement I|

are correct

(2)
(3)
4

Which factor is important for termination of
transcription?

(1) o (sigma)
(3) ¥ (gamma)

(2) p (rho)

(4) o (alpha)
Consider the following statements regarding
function of adrenal medullary hormones :

A Tt caus@;!"ioupilary constriction

B. Itisa hyperglycemic hormone

C. It causes piloerection

D. It increases strength of heart contraction

Choose the correct answer from the options
given below :

(I) B, C and D Only
(2) A, Cand D Only
(3) D Only

(4) Cand D Only
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129 JHistones are enricheg witl
\ -

130

(1) Leucine & Lysine

(2) Phenylalanine & Leugj
“ Leugine

(3) Phenylalanine &-

: “Argini
(4) Lysine & Arginiﬁé ===

Genes R and Y f‘ollmi';:'k

.Independ
IfRRYY pt:{lducc rol\ljtl’t:'i }'eklow?g assortment.
produce wrinkled ar o eeds and r

. een seed .
phenotypic ratio of the ) gsér:zr;:im«l;l be the
on?

(1) Phenotypic ratio - 3 il |

(2) Phenotypic ratio -9 :3:3 .
(3) Phenotypic ratié.';-jQ' 57 |
(4) Phenotypic ratig™ | : 7 - 1

kil

3
y ™y
o ;:::?h; ;:Hﬁa:;]:: Xy B WPTGHCS releasnd
hypothalamus ? v WLy eymtheaized n the
(1) Anti-diuretic horrhone (ADH)
(2) Follicle-stimulating hormone (FSH)
(3) Adenoconicotr{i;fpic hormone (ACTH)
(4) Luteinizing hormone (LH)
| <
132 Given below are twg statements : one is
labelled as Assertion (A) and the other is
labelled as Reason (R).
Assertion (A) : All Vertebrates are chordates
but all chordates are not vertebrate.
Reason (R) : The members of subphylum
vertebrata possessynotochord during the
embryonic period, the otochord is replaced by
a cartilaginous or bony vertebral column in
adults. i’?
In the light of the abci\fj% statements, choose the
correct answer from;the options given below:
(1) Both A and R are true but R is not the
correct explanation of A
(2) A is true but R is false
(3) A is false but R is true
(4) Both A and R are trué and R is the correct
explanation of A
46_English |
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134

135

Given below are two statements |

Statement I : Fig fruit is a non-vegetarian fruit
as it has enclosed fig wasps in it.

Statement IT : Fig wasp and fig tree exhibit
mutual relationship as fig wasp completes its
life cycle in fig fruit and fig fruit gets
pollinated by fig wasp. -i

In the light of the above statéments, choose the
most appropriate answmj__from the options
given below : o

(1) Both statement [ and statement I[

are incorrect oy

Statement | is correctibut statement Il

is incorrect e

Statement | is incorrect but statement 11
is correct ul
Both statement I and statement 11

are correct '

=

@
3)

“)

Sweet potato and potato represent a certain
type of evolution. Select the correct
combination of terms to explain the evolution.

(1) Homology, divergent i~
(2) Homology, convergeﬁ?—’ii
(3) Analogy, divergent ;:1
(4) Analogy, convergent O

fanrs

|

i
Which of the following microbes is NOT
involved in the preparation of household
products? O

oy

Aspergillus niger 7

Lactobacillus

=8
%

Trichoderma polysporium
Saccharomyces cemw‘_;fe;re
o)

mo 0@ >

. ) . ‘r
Propionibacterium sharmanii
Choose the correct answer-from the options
given below:

(1) A and C only
(2) C and D only
(3) C and E only
(4) A and B only
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139 The correct sequence of event

e S the ie.
130 lklcmir\:?ﬁw part of a bio-reactor \\'f\ich is used of hryop_hyws iﬁ.”li o ity Cyele
as fn-;'m|1 braker from the given figure. A. Fusion of antherozoid With Cge,
: ! B. Attachment of gametophyte
substratum.
e Rcducl‘.ion"ﬁilivision to prodyce hap,,
spores. s 'd
D. Formation of sporophyte,
E. Release ofiantherozoids into Water.
Choose the correct answer from the OPtiong
given below : ‘O
() B.E,A,CID  (2) B, g, A, D, ¢
(3) D,E A, B;C (4) D, E, A,C, R
- 140 Match List - I with Lis¢ - pp.
(1 B! (2) D List-T . List - 11
3) C'l:;* @) A A. Centromere: i Mitochondrign
o B. Cilium "‘ [I. Cell division
O i C. Cristae ;} lIl. Cel MOVemeng
137 Name Filticfgss of enzyme that usually cataly; D. Cell membrane v, PhOSphc‘lipid
the following reaction : o Bilayer
S-G +S‘# - S+S¥_G Choose the correct answer from the Options
Wher‘?;‘g — @ group other than hydrogen given below :

(1) A-IL, B-I, €21V, D-11

S|— a substrate (2) A-1V, B-1I7€-111, D-

S‘Hf'_;—> another substrate (3) A-II, B-HIEE:C-L D-1v
(1) Lyase 2) Transferase @ AL BAIL CI, D1 3
0\
(3) Ligase () Hydrolase 141 Find the correct statements - y
I A. In human ‘Preghancy, the major organ /
138 Match rL!st[ with List IT : Systems aré formed at the end of
List 1 List II ' weaks, : /
B. In human Prégnancy the major organ 4
A. Chlorophyll a 1|. Yellow-green Systems are formed at the end of 8 weeks,
B. Chlorophyli b I, Yellow C. Inhuman pregnancy heart is formed after
C. Xanthophylls 1. Blue-green one monthyof gestation, '
5 Cré s ; D. In human-pregnancy, limbs and digits
. ?\I tenoids IV. Yellow to develop by'the end of second month.
Ve Yellow-orange E. In human Pregnancy the appearance of
yisg LY .
Choosé:'lhe option with all correct matches, nair is usuqlhl_}; observed in the fifth moﬁnth.
v : Choose the correct answer from the options  /
(1) A-ll, B-l, C-II, D-1v ' . L
given below : /
) A-L B-II, C-1v, Dy (1) Band C Only /
(3) Al By, C-111, D1 (2) B,C,Dand E Only /
() AL, B, Cpp, pg 0y . D and E Only /
i

(4) Aand E Only
46_English |
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(42 Each of the followip,

143

144

g L‘Imr;wlul_
d h'}f Whin
2usin

a Kingdom propoge

i.‘i[icg r
. i S represent
the following in inep

aker,
g order of g,

of body organizat
° M} ;:‘}E'g:amz_.ltlon. ‘nplcxily
g ulticellular,
(.Iluliz_nr;:lmtcrmmph ;
e S With cell wall
B. Heterotroplis i
e l:?-plii__s With tissue/organ
: Vel ran/or
§ Erube, {__,__:F'Df\li’()dy Organization. =
l yolc_:_s.. With cell way)
polysaccharides ang amino a 'dmade il
D. Eukaryotic a o
o Y;Jtlc autotrophs with tissue/org,
of body organization .
E. i |
Euka_ryo_tes with  cellula
organization. robed

Choose the correct answer from
given below :  _ °

() C.EA DB (2 A,C,E, D, B
3) GEA,BD E.B,
@) GEABD ) ACEBD

the options

Ly
Which are correet:
A. Computed tomography and magnetic
resonance imaging detect cancers of
internal organs.

B. Chemotherapeutics drugs are used to kill
non-cancerous cells. '

C. o« -interferon activate the cancer patients’
immune sy;,ét_jem and helps in destroying
the tumour._,

D. Chemotherapeutic drugs are biological
response modifiers.

E. Inthe case 5f leukaemia blood cell counts

are decreased.

Choose the correct
given below: .

() Dand Eonly (2) CandD only
(3) AandC orﬁs; (4) Band D only

answer from the options

Which of the following genel
organisms was used by Eli
human insulin? *"
(1) Yeast
(3) Phage

Lilly to prepare

(2) Virus
4 Bacterium

46_English |
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What is the pattern of inheritance for polygenic
trait?

(1
(2)
(3)
(4)

Non-mendelian inheritance pattern
Autosomal dominant pattern
X-linked recessive inheritance pattern

Mendelian inheritance pattern

]

=3

(4
Which ofrthe following are the post-
transcriptiofal events in an eukaryotic cell?
1
A. Transport of pre-mRNA to cytoplasm

prior to splicing.

B. Removal of introns and joining of exons.

C. Addition of methyl group at 5" end of
hnRNA.?

D. Additio’rﬁfof adenine residues at 3” end of
hnRN A

E. Base ﬁl}liring of two complementary

RNAs. {:
Choose the g;orrect answer from the options
given below!
(1) B, C, D only (2) B, C, E only
3) C.D;E only (4 A,B,Conly

Which nneféf the following phytohormones
promotes nutrient mobilization which helps in
the delay of leaf senescence in plants?

(1) Abscisif:: acid  (2) Gibberellin

(3) Cytokinin (4) Ethylene

- |

Which one of the following statements refers
to Reductionist Biology?

(1) Physioltogical approach to study and
understand living organisms.

Chcmj_%gl approach to study and
understand living organisms.
Bcha\frﬂi)ural approach to study and
understand living organisms.

(2

3)

Physico-chemical approach to study and
understand living organisms.

@
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Mateh List = Twith List - 11,
List - 1 List - 11
A Emphysema L Rapid spasms in muscle
due to low Ca'" in
body fluid
3. Angina I, Damaged alveolar
Pectoris walls and decreased
__respiratory surface
C. Glomerulo- Il Acute chest pain when
nephritis ~.not enough oxygen
“Lis reaching to heart
muscle
D. Tetany IV. Inflammation of
glomeruli of kidney

Choose the correct answer from the options
given below : :

(1) A-I1, B-1, C-I1/ D-1V
(2) A-Il, B-1V, C-111, D-I
(3) A-II, B-lI, C-1V, D-I
(4) A-IIL, B-I, C-1V, D-II

mn_nr%nm that are m_.o&._:m on a mango branch
is an example of which of the following?
(1) Mutualism (2) Predation

(3) Amensalism ~(4) Commensalism

Match List I with List IT :

List-I <y ListII

A. Alfred Hershey - 1. Streptococcus
and Martha "0 pneumoniae
Chase _

B. Euchromatin = ||, Densely packed

and dark-stained
Loosely packed
and light-stained
DNA as genetic
material
confirmation
from the options

C. Frederick 5 I,
Griffith -
D. Heterochromatin IV

Choose the ...E...mn_. m:mén_.
given below -

(1) A-1V, B, ﬁ.-_. D-111
(2) A-lv, B-111, C-1, D]
(3) A-1, B-11, C-1v, D]
@) A-ll, B-1V, C-1, Dy

46_Enplisp |
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152 Which chromost

153

154

| me in the _:_:.E: £eng
the highest number ol genes? me

as
(n Chromosome v

(2) Chromosome |

(3) Q:d:._:_moin 10

4) C _dqo_:ow.c.an X

What are the potential drawbacks i,

4 adaopt:
of the IVF method? “1Pith

A.  High fatality risk to mother

a

Expensive instruments and reagents

I:vvmzaas,:]n necessary for being 2 dongrg

. Less mﬁ_ouﬁ_oz of orphansg

o0

Not .EE_N&_n n India

m m

m.n.mm__u__:% that the early embryo doeg not
survive

Choose the no:.non answer from the
given below :

(1) A, C, D,.qm.. only

(2) A, B, 0;@ only

@) A B; G Fonly

(4) B, D, F only

Options

Match List - - _?:r List - I1I.

List - 1 List - I

Head o I.  Enzymes
Middle picce 1. Sperm motility
Energy

Genetic material

Ty

A
B
Ci >n_.cmoﬂnw.m I1.
D. Tail Iy

Choose the correct answer from the options
given below -

(1) A-1V, BAIL, c.11. pog
(2) A-lll, B-IV, C-I1. DI
(3) A-lll, B-II, C-1. D-1v
() A-1V, B-11I, C-1. D-11

_ naH—nﬂ—...
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p prom the statements given bel
Slow

correet option : choose the

A.  The cukaryotic ribosomes are
prokaryotic ribosomeg are ucm. 08 and
B. Lach ribosome hag two sub .

2 - -units
C. Thetwo sub-unitsof |

80S ribo
AT i R some are 60S
\ ile ﬂ_g.._w.p of 708 are 50S and 305,

D. Thetwo mcc-csm.ﬁm_oﬂq 80S ribosome are 605

and 20S and that'of 70S are 508 and 20s
E. Thetwo m:_u-ciro.__ of B0S are 60S and 308
and that of 70S"are 508 and 30S
A, B, D are true

A, B, E are true..

()
(2)
3)
“4)

B, D, E are true-

e

A, B, C are tru

_

.,

5
|

]
Which of the following is an example of non-
distilled alcoholic wo..ﬂm_.mmo produced by yeast?
(1) Brandy " (2) Beer

(3) _WE._._ ﬂ%& Whisky

¥

156

=

Who is known as wmn father of Ecology in
India? o

"
e
i

157

;]
£

(1) Ramdeo me_.m_..,_..\_“m

Mo

(2) Ram Udar
(3) Birbal Sahni |
Ewm.w.ﬁmmruﬁﬁ._

|
Rt
gt

In the seeds of cereals, the outer covering of
the embryo by a protein-

158
endosperm mn_um_.mﬁm%

%

rich layer called :
() Coleorhiza
(2) Integument

(3) Aleurone layer

159  Which of the following statement is correct
about location of the male frog copulatory
pad?

(1) First digit of hind limb

(2) Gecond digit of fore limb

(3) First digit of the fore limb

(4) First and mnnc.sm digit of forc limb
alised En_?,..v_.m:ozm structure in a
.c cell which helps in cell wall
DNA _.mv:.om:o: and respiration is:

160 A speci
prokaryot
formation,

(1) Chromatophores

(2) Cristae £
3) Endoplasmic _wf_m,:n:_:a

(4) Mesosome o
¢

i

161 Given below are Ec statements :
Statement 1 : Anm:w.m.mq RNAs and ribosomal
RNA do not interact-with mRNA.
Statement 11 : RNA interference (RNAI) takes
place in all eukaryotic organisms as a method
of cellular defence,

Ez.&:mgoﬁwmmmuwnmsﬁnanzﬁmq orocmm%m
most mﬂﬁ..o_ulunmw@mﬁnq from the options
given below : i

(1) Both Statement’l and Statement 11
are incorrect = )

, =3
Statement | is ‘correct but Statement 11

(2)
is incorrect

(3) Statement 1 is,incorrect but Statement 11
is correct ol

(4) Both Statement 1 and Statement 11

g
are correct J

L >

[

4__
m..
162 What is the name’ :.,H. the blood vessel that

carries deoxygenatéd blood from the body to

the heart in a frog 2
(1) Pulmonary artery
(2) Pulmonary vein

(3) Vena cava

(4) Coleoptile

46_English |
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Goaven below are o statements

A S
In the RNA world. RN/
rinl -:\-n!\'ml 1o

Statement 1o

considered the firat genetic mate

A nets as
ATy oul essenti '.I life provesses. RN

alyst for
iving

A penetic my mn.ll and also as a cal
some important lnht‘hclmml reactions in li
systems. Being rcuu.ll\c RNA is unstable-
Statement 11 : I)NA evolved from RNA and
is a more stable y..mlu, material. Its double
helical strands being complementary. resist
changes by evolving repairing mechanism.

In the light of the above statements, choose the
most appropriate answer from the options
given below 1+ 4

(1) Both slalcmclnll-[ and statement Il
are incorrectt

(2) Statement | ii_;:'éorrcct but statement 11
is incorrect 3‘.!

3

i
Statement 1 i$ incorrect but statement Il
is correct

C))

Both statement | and statement 11
are correct £

g=

E‘ 2

Which one of lhe i'ollowmb is an example of
ex-situ conservat!on'7

(1
(2)
(3)
4

Wildlife Sanctludry

Zoos and bo}h}tical gardens

Protected areas

National Park.

Which one of lhelﬁillowing enzymes contains
“Haem” as the prosthetic group?

(1)

(2)

(3)

(4)

Carbonic anhfdrasc

Succinate dehydrogenase

& -4
Cawalase

RuBisCo

46_FEnglish |
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168

Given below are the stages in the life Cyele
pteridophytes. Arrange the following Stage
the correct sequence.

f

A. Prothallus stage

B. Meciosis in ;;;"Jé\rc mother cells

C. Fertilisation i‘

D. Formation afarchcgonu and amhtndm
Eamctophyle I

E. Transfer of amherozmds to the m‘chcg(,m
in presence. of water.

Choose the correct answer from the Optiong
given below :

(1) B,AE,CD

2) D,E C AB

3) ED,C, B.A

(4) B,AD.EQ
3

£ %
e

Which of following organisms cannor fiy
nitrogen? i

A. Azotobacter B. Oscillatoria

C. Anabaena D. Tolvox

gy
T

E. Nostoc

vl
Choose the corpect answer from the options

given below: -t

(1) D only ‘:"3 (2) B only

(3 Eonly (s (4) Aonly
i

While trying to ﬁr%d out the characteristic of a
newly found animal, a researcher did the
histology of adult-animal and observed a cavity
with presence of-mesodermal tissue towards
the body wall bsfft no mesodermal tissue was
observed towards he alimentary canal. What
could be the possxpie coelome of that animal?
(1) Pseudocoeldmate

(2) Schizococléf&?ate

(3) Spongocoelomate

(4) Acoelomate

[ Contd.
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-“.‘.n ! L]l Vo .
w L% l
1LY ] “uL.' .‘\““kl"l.l“-\'
" - L4 ‘

zvgomorphic Ntire g
' ‘ a1 ol
ands (o mierior oy,

& . Y
Statement 11 ; |, S Moeal o
dHtloral formy

for actin omorphijg| p

M standg for

and G st the Mower,

1y,

la @ stands

alure gf the flower

and G stands for sﬁﬁcriur ov
ary,

In the light of the

Both Stateme“_t_‘i and Statemenq Iy
are incorrect -

¥

I

Statement | g forrecl but Statement Il

is incorrect

i
L

Ly

v

(€)]

Statement [ is incorrect but Statement 11

is correct L

(4)

Both Statement 1 and Statement |1
are correct {3

| _

e

o

®

Given below are tWo statements :

Statement I : The:-.érimary source of energy
in an ecosystem is*5olar energy.

Statement II : T}aa rate of production of
organic matter during photosynthesis in an

ecosystem is called net primary productivity
(NPP). o
In the light of the a.?_?{‘;:ve statements, choose the
most appropriatesanswer from the options
given below : €4
(1) Both statemeggl and statement Il

are incorrect ™
(2) Statement I Es:_(?orrect but statement II
is incorrect
(3) Statement | is incorrect but statement 11
is correct
Both statement | and statement I

4

are correct

“HEnglish |
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Which of the following diagrams is correct
with regard to the proximal (P) and distal (1)
tubule of the Nephron.

HCO; NaCl NaQlFHLO HCO,

Lhs
Streptokinase pf;piduced by bacterium
Streptococcus is used for
(1) Ethanol prodl.fption
(2) Liver disease treatment
(3) Removing clots from blood vessels
(4) Curd productipp}
i i
Cardiac activities of the heart are regulated by:
A. Nodal tissue .
B. A special neur,hi centre in the medulla
oblongata U
C. Adrenal medulla’fy hormones
D. Adrenal cortical hormones

Choose the correct answer from the options
given below :

(1) A,B,Cand D

(2) A, C and D Only
(3) A,Band D Only
(4) A, Band C Only

| Contd...
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| the other 18

Giiven bel
A) am

abelled as Assertion (
labelled as Reason (R).
\ssertion (A) £ A typien
yiosperm embryo Sac {

174

| un fertilised,
! W maturity 18

ang .

§ nucleate and 7-¢elled.

Reason (R) @ The egg apparatus has 2 polar

nuclel.

In the light of the above statement
options given below:

s. choose the
correet answer from the
(1) Both A and Rare true but R is NOT the
correct explanation of A

A is true hutsﬁ is false

A is false bUTI,R is true

Both A and R are true and R is the correct
explanation of A

. |

(2)
(3)
(4

Find the slaicmcnft. that is NOT correct with
regard to the structure of monocot stem.

(1) Vascular bundles are scattered.

(2) Vascular bundiés are conjoint and closed.

(3) Phloem pareﬁc_hyma is absent.
(4) Hypodermis is parenchymatous.

Given below are ‘two statements : One is
labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A) : Both wind and water
pollinated flowers are not very colourful and
do not produce nectar.

Reason (R) : The flowers produce enormous
amount of pollen grains in wind and water
pollinated flowers.

176

In the light of the above statements, choose the
correct answer from the options given below:

(1) Both A and R are true but R is NOT the
correct explanation of A

(2) A s true but R is false
(3) Ais false but R is true

(4) Both A and R ar
. ¢trueand R s t .
explanation of A he correct

'“'_":llglisll |
30

177 Nceoplastic characteristics of ¢
A e

178

179

180

1S rep

' S - . g . rt[ :

A. A mass of proliferating ce) o,
B.  Rapid growth'of cells

C. Invasion and damage

to the
i SUrrOy -
tissue uhd'”u

D.  Those confined to original locat;
Choose the correct answer from N
given below:
(1) A,B,Conly . (2) A, B, D only
(3) B,C,D only_ T (4) A.B only

|
The complex [I of mitochondrial ele
transport chain is-also known as

he OPting

ctr()n

(1) Succinate de};ﬁfdrogcnasc

(2) Cytochrome coxidase

(3) NADH dehydrogenase

(4) Cytochrome bc,

Polymerase chain reacti i
DN:;\ following E:cr;:ﬁ:t?gn.(PCR) amplifies
1 2
(3) 2N2

(2) 2n+1
(4) N2

In the above represénted plasmid an alien piece
of DNA is inserted at EcoRlI site. Which of the
following strategies will be chosen to select the

recombinant colonies?
(1) Blue color colonies will be selected.

(2)
3

White color colonies will be selected.

Blue color colonies grown on ampicillin
plates can be selected.
Using ampicillin & tetracyelin containing

medium plate.

(4)
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